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7.36 +23 O 544+ 17

7.36 +23 = 0.32, 5.44 + 17 = 0.32
7.36 +23 =544+ 17
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D 385+25=1.54
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@ 23 +8 =2.875
®9.45+9=1.05




18. ok [ ot dgre 5 AR oA
(1) 74m? + 5a + 460 cm? + 0.036 ha = Dm2
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> HE D 246.05

(1) 74m? + 500 m? + 0.046 m? + 360 m? = 934.046 m?2
(2) 0.85a +240a + 5.2a = 246.05( a)
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® 300a = 3ha

@ 3000m? = 30a = 0.3ha
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D 0.24x34.8 @ 2.4x3.48
@ 0.024 x 348 ® 24 x0.348
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@D 0.24 x 34.8 = 8.352

@ 2.4 x3.48 = 8.352

® 240 x 0.348 = 83.52

@ 0.024 x 348 = 8.352

® 24 % 0.348 = 8.352
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D 2x02=14 @ 3x0.03=0.9

@5 % 0.005 = 0.025 @ 2.3 x0.002 = 0.046

® 4.5%0.003 =0.135
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3AIZE 302 = 3.5(AIZh)
3.5 x 90 = 315(km)
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5.8 +23 =0.25217- - -
S@ol7F R Zh 1 0.25
Aol 7F 3 Zk 1 0.3
— 0.3 -0.25 = 0.05
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TOFA L.

(2] Wol)=(AAZF Y Wol)-(AerelZe] yol)
= 60 x 50 — (50 + 40) x 20 =+ 2
= 3000 — 900 = 2100( m?2) = 0.21(ha)




